https://lwww.leads4pass.com/splk-2002.html

L eads 4 PGSS 2024 Latest leads4pass SPLK-2002 PDF and VCE dumps Download

SPLK-20029As

Splunk Enterprise Certified Architect

Pass Splunk SPLK-2002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.leads4pass.com/splk-2002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Splunk
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp

Satisfied Customers

Q00O

SPLK-2002 VCE Dumps | SPLK-2002 Practice Test | SPLK-2002 Braindumps 1/3


https://www.leads4pass.com/splk-2002.html
https://www.leads4pass.com/splk-2002.html
https://www.leads4pass.com/splk-2002.html

https://lwww.leads4pass.com/splk-2002.html
2024 Latest leads4pass SPLK-2002 PDF and VCE dumps Download

QUESTION 1

When using the props.conf LINE_ BREAKER attribute to delimit multi-line events, the SHOULD_LINEMERGE attribute
should be set to what?

A. Auto

B. None

C. True

D. False

Correct Answer: C

Reference: https://answers.splunk.com/answers/6926/how-to-keep-data-together-as-one-event.html

QUESTION 2

Which of the following should be included in a deployment plan?
A. Business continuity and disaster recovery plans.

B. Current logging details and data source inventory.

C. Current and future topology diagrams of the IT environment.
D. A comprehensive list of stakeholders, either direct or indirect.

Correct Answer: D

Reference: https://docs.splunk.com/Documentation/CoE/ssf/Handbook/StakeholderReg

QUESTION 3

As a best practice, where should the internal licensing logs be stored?
A. Indexing layer.

B. License server.

C. Deployment layer.

D. Search head layer.

Correct Answer: D

Reference: https://docs.splunk.com/Documentation/ITSI/4.3.1/Install/Plan

SPLK-2002 VCE Dumps | SPLK-2002 Practice Test | SPLK-2002 Braindumps 2/3


https://www.leads4pass.com/splk-2002.html
https://www.leads4pass.com/splk-2002.html
https://www.leads4pass.com/splk-2002.html

https://lwww.leads4pass.com/splk-2002.html

Le ad SAPASS 2024 Latest leadsdpass SPLK-2002 PDE and VCE dumps Download

QUESTION 4

Stakeholders have identified high availability for searchable data as their top priority. Which of the following best
addresses this requirement?

A. Increasing the search factor in the cluster.

B. Increasing the replication factor in the cluster.

C. Increasing the number of search heads in the cluster.

D. Increasing the number of CPUs on the indexers in the cluster.
Correct Answer: B

Reference: https://docs.splunk.com/Documentation/Splunk/7.3.2/DistSearch/SHCarchitecture

QUESTION 5

Which of the following statements about integrating with third-party systems is true? (Select all that apply.)
A. A Hadoop application can search data in Splunk.

B. Splunk can search data in the Hadoop File System (HDFS).

C. You can use Splunk alerts to provision actions on a third-party system.

D. You can forward data from Splunk forwarder to a third-party system without indexing it first.

Correct Answer: CD
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